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The Growth Angle of a Chemical Garden  

which is Influenced by Currents 

3  
 

Chemical gardens grow in different forms. So I supposed that the current causes 
them to grow diagonally growing. The methods were that I made the current of solution 
in beaker by a magnetic stirrer. Next I made chemical gardens 1, 2, 3, 4 cm away from 
center stir bar in them. Finally I measured angles of chemical garden. The results 
were that the closest chemical gardens from the center stir bar didn’t grow up at right 
angles. On the other hand, the most distant chemical gardens grew up at 5 -25 . In 
conclusion, the current influenced chemical gardens, but strong current caused 
chemical gardens not to grow. 
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1.0 L 1.06 Na2SiO3 200 mL  
1.0 cm   
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http://www.ichinoseki.ac.jp/che/sosei/hei26/hei26-10.html   
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